lzﬁsw 12 Ky, 0 v, €1 Gl \’c)'}J\
Wl V]l .
An /—_;&;DB c Dv E;,-‘%— 3_!5
%*21-5-1 ’IS.snr 2.4 m: 46.5m ' 12.5:+ 2A8m ’ Z‘Fx:o =>
ISKN 12 1eay, Ag=o
l Ll
My °3 5 r”a
338 kN o 42 knyg, "\2.\‘-“
" ) %—L R o L@]
A By Ve I/ r
J c v, o/
PesPy oo «—

Sios? ol B ) s A o
s 2355 U‘.v’ j/}v/((}{' O}f W(jw)/) &g ¢

A /’/ 2 é- ’di . ‘],5,’ ;\‘é{"“l‘- 5 » 2 { - :/ -
(:‘f CUTY e et = DEE | pee Wiy Al miie

N S S e (ib <o s
T D ‘[‘}7,"..(&‘ -

I ‘}:r n o X 46. =) -q-"Z)Q‘\Gs)\‘Q‘ S -0
. — o
} T QDp!?—;) -—
e g14s - 9x46.5 V=
—>» V= —9%6.5 KN =sNp=916.5 T\\
235kn
J' CD r“"f’
1’ %
Z;J ’33 L9?6.5!4N ‘({‘) e "‘“’”d"’
¢+

0 == —ﬂa)\t?,?_.s_kIS.S) _*335 QS-S)— 97‘6.5
' — ()
=AYz 54 s hy-99).5496 )

+. kN
471?3 Za => -HM\.596 -334 £By-965 _ T




O !

s b '
t ) (. f
~936.5 F—'-a Fr] 9#65 % a

TN i
Lv 9745 (22.5+38) - By (33) + 42(21-S+38) Lli:—"_l‘ 2a
=> Ey=351%. 461 w(
AL 17’1;"6 TP -916.5 + 351« +Fy - <\LQ:L-3+3%) = o =>
\ F3-=~59.%1 IVN ‘ == Fas $9.961 | |«
1655 .94l
ST
A g
e /

646

WV = -4a91.89¢
VL - aansu-S T -FR 56 kY
35 217 ,
Ty, = -FFb a6 kol
Vo= -#76.596 + [F53.054 =77€.5
)

b
Ve= 9% .5 w
-“rb=' 93¢.5 - ‘\LC\&..S) - —916.5 W
VE,L = =916.5 - 4(s)=-ha.s W
_\rf:,P\:‘.\?zL‘a'-\- 5577. 46| = 1655-9%1 Kk

_ 53. 9\ KV
'VFL: 1655-96) - 42(38) = 2

VE = 59. 98\ = 9.9\ =0© kN



Mﬂ,: 0|£'33’0;0":{’A
Mo o caqsae LS = 299394185 Jen.oo
Bs , i/
rlB = -9934.F85 - 776.54¢ 05-5)_-_2|94l. 25 KN.m
. O
Mg-_— = e 24® + 9% 6. Skl‘LoS) — /)‘OW
=

Pevu)
ﬁ%f — /’i/fds‘ -a(//%% s oy Vb su.s ) _ 1y 351, 8125 H&?)

|
)ﬂo,;d@» L ondS1.8\25 _ 99, s@% 1s) _
'—-—"’——\__‘
& -
Exoen Q\Q‘:_\.S-ﬂ-&-b’) X 215

y -

- 37,50'?__. =Y

R
ME <o —QJ""’%M»Z L -32402.5 + (1655.9¢l 4\-59.%')133

-
- 0

.




v‘)b”

ﬂ’ o

‘U}”"“/ rl/v) r’jl:,..t(ﬁt(d/]

oy, b
P ] ‘ B / //
f "éf,%/éj‘ g [/ ©HLE Lo
| 5M - :{"/l/.
E‘;&‘L»—"—- ___El | + Ay-48 kT
/T’ | %"Ex ATME 20 Ay (8)+ @)(E) =e — Y7
‘ - t
:Y >e >Eu THTFyze > 48-128) +Ey zo—> EBg= KN
L‘M "‘m
~ o ,". ‘/"')de
e 1] J .._'/,brjiw ABC o2, p2p /200
7—>c 3
i ex
/CJ C‘I’ »4)5_“ o -43x 4 +Ax(5+3) .\,lz_L‘\)Li)_o
B N
D > sz |)_ K'\j—-b-
S
‘ C’Pl-‘i’_,aw Ex ,4= r&) TR lojs o)
A, e
—_— 2N
T T'—” LF Fyze — 124 Ex =0 =>Ex= - 2KN
M Ef Ex - kb o
T s AB b sy
He 51— 8 + . = Z
. * "\‘Lf\t,):o LAY *2(3) =6 —» Mgz -bo K¥.m

5“1 \'ﬁ HQ;:— LOIQJ-MD

Lo LFx=0 — Bxrli=e o Bya-lwd Bl 12kN o

L —;I L 12N s BC "*L’{f‘;b@ @y
i ¥ =z —
J:;_ ! < l"""c-x dg),) L o2
' _/ ( Bx=\2 I )
e ' ! q
_ s Me ) CoSA = 12X —— =2y ﬂ. 9.
S “/ [6\:(“ By=4%eN G J 32442 é
— QKN o
ok .
905 | T TR e Gt mo s Cxe
, Q}ij'bj‘f “ Cx = \LEN +—
[

i p 2 TR P FRETTT PR JH



: : —~ = : 3 _ . - - -
N 35. 7bs st Tl () S L e by 7
_5—x.9.b = S . L-:"’)f/f (w);)),ﬂé)//;//)/['_;/; a/fb’rjf,p)’l‘

b 7 o ]
= /5"‘ Sm 7 *3')(!)."1 ZkN
2 --_—--—> -
KN \{_,"v | - . ;
347y " k(s 3 %xll = 96 uN
}“"’ﬁfr‘?’
G, TEOL T Lxds = 3849 ky
3 -
PG/ Ut R ~ ; - 3
::\ Ts Am 2% wv/)/ﬂ ¢ =498 = 28.8 kN
et
\\
48

: __;j/) /:‘4’-/5"’:/./

- 12xn . A :
T € b o oy

-‘.
— TiFa;o — Dy —yxq _, —>Dy =_454
D ‘—» A
T, SaE, Mol
L =0 ——»—DY\+\1—° —>Dx = -1 kN

Dy



—> Dx= TN «—

T—Hbz-o — Mg 2(4) () -2 (3)=°> —> Mp-‘—' -b0o KN-m HMD-'-‘ bo U"-’“D

(é&"%") CD 24 5/ k>, .L,v/'{‘

.? %
4‘6w
b0 rf‘j _,_— N ‘
kﬂm Y'D (PRTIN! :L_#}G/J: DE),_aﬁ) b/‘///
! P
;‘5 mp.:o PR - éo.» \FL_;.S oy - lff
. p = (VY v
— i~ R <
E Y i 12 e A

4%k T ihze —v 184820/



